
Multiply and Divide by Powers of Ten (G)Find each product or quotient.
2 × 1.000 = 16 : 0,01 =
40 × 0,01 = 67 : 1 =
85 × 100 = 2 × 1.000 =
45 × 0,01 = 64 : 1.000 =
95 × 0,1 = 97 : 10 =
41 : 0,01 = 53 × 0,1 =
82 × 10 = 19 : 1.000 =
2 × 0,01 = 62 : 100 =
54 × 0,01 = 78 × 1.000 =
84 : 100 = 54 × 1 =
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Multiply and Divide by Powers of Ten (G) AnswersFind each product or quotient.
2 × 1.000 = 2.000 16 : 0,01 = 1.600
40 × 0,01 = 0,4 67 : 1 = 67
85 × 100 = 8.500 2 × 1.000 = 2.000
45 × 0,01 = 0,45 64 : 1.000 = 0,064
95 × 0,1 = 9,5 97 : 10 = 9,7
41 : 0,01 = 4.100 53 × 0,1 = 5,3
82 × 10 = 820 19 : 1.000 = 0,019
2 × 0,01 = 0,02 62 : 100 = 0,62
54 × 0,01 = 0,54 78 × 1.000 = 78.000
84 : 100 = 0,84 54 × 1 = 54
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